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Reported transplants conducted between 1991 and 2007 according to transplant team
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”Related BMT” includes syngeneic bone marrow transplants.

MrIFEIE IR A ) AR I 2 &30,

” Allo-CBT” includes Multi-CBT.

FZoft) 1& TBAEREE) &0 TRF—] OHAMPZEMOE DX [EH + KB 280,

”Others” include BM+4-PBSC transplantation and those whose ”transplanted stem cells” and "donor” were left blank on the report form.

*1 TRUMP 2 W THETFERRI N/ 2005 FLAREOBHIO hTHAHE 2 2 Thiz U ilE OEl 4.

5% ARiIFYHETE Uk,

The proportion of cases with complete data entry among those reported using TRUMP (transplant cases on and after transplanted in 2005) is shown.

The proportion is rounded down to a multiple of 5.

W & i B & DN B IEHNIZ T DRI L 72,

overlapped reported cases were excluded.



